Alfarama Journal of Basic \& Applied Sciences
https://ajbas.journals.ekb.eg
ajbas@sci.psu.edu.eg

## Faculty of Science Port Said University

http://sci.psu.edu.eg/en/
DOI:https://doi.org/10.21608/AJBA
July 2024, Volume 5, Issue III
S.2024.252552.1201

ISSN 2682-275X
Submitted: 12/12/2023
Accepted: 26/04/2024
Pages: 435-444

## Computing Exact Solution for Forward Linear Discrete Time Variant Systems

Mohammed Shehata ${ }^{1, *}$, A.M.Ezz-Eldin ${ }^{1}$ and A. A. Khalil ${ }^{2}$<br>${ }^{1}$ Department of Basic Science, Bilbeis Higher Institute for Engineering, Ministry of Higher Education, Egypt<br>${ }^{2}$ Department of Mathematics, Faculty of Science, Sohag University, Egypt<br>* Correspondence author: mashehata_math @ yahoo.com


#### Abstract

In various engineering fields, such as circuits and electronics, solving discrete or digital systems is very important. By using linear algebra maple package, we will construct a simple procedure for computing the exact solution for linear discrete systems with time variable coefficients. We will give simple formulas for the solution of nonhomogeneous linear discrete systems for forward shift operators and forward difference operators. To illustrate our procedure, we will give some examples with different type of operators. By entering the parameters of the system in each example, we will receive the graph of exact solution.


Key Words: Discrete system, time-varying systems, difference equations, digital system, Maple programing. Mathematics Subject Classification: 39A06, 93A60, 39A60

## 1. INTRODUCTION

Physicists and engineers have used the concept of system to study the relationship between matter and the force acting on it. A system is a mathematical expression designed to serve as a mathematical model of an interactive phenomenon. If the time domain is a continuous period, the system is known as a continuous time system and if the time domain is only for discrete moments of time $t$, where $t$ varies across integer numbers, then the system is referred to as a discrete time system. We denote the continuous time function at time t by $f(t)$ and the discrete time function at time $k$ should be denoted by $f(k)$.

Computer controls are generally carried out at discrete times depended on samples taken at discrete times. It is preferable to use discrete systems for several reasons, including that the computer language is the binary system. In addition, discrete-time models are usually much easier to identify than continuoustime models. [1-3]. Discrete-time models has been widely encountered in science and engineering fields such as compressed sensing, robot, optimal control and signal processing [4-15]. As well as finance and economics, many models have been defined to calculate the development of economic sizes across separate periods [16]. Some advantages and disadvantages of using discrete versus continuous systems can be found in [17].

Maple is a mathematical program that can solve complex mathematical problems by writing just a few lines of command. You can create your own procedures. The maple program contains important packages such as linear algebra package. In [18], we constructed a Maple procedure to get the exact solution of
nonhomogeneous time-invariant continuous systems. Here, we will develop a Maple procedure for the solution of forward discrete system with variable coefficients. Throughout, we will use some commands like [19]:

```
> proc(.)...end proc:
> with(LinearAlgebra):
    >seq}(x(i),i=0..m)}
    >A:= matrix ([[a,b,c],[d,e,f]]);
    > Transpose(A);
    >MatrixInverse(A);
    >Plot(v
    # Procedure.
    # Linear algebra package.
    # Sequence }x\mathrm{ (1), x(2), .., x(m)
# Defining 2 by 3 matrices.
# Matrix transpose.
# Matrix inverse.
# Plot two vectors on one graph.
```

In addition, we shall use the following notations and definitions:

- $R$ denotes the real line.
- $N_{m}=\{0,1,2, \ldots, m\}$
- $\prod_{\underline{i=\ell}}^{m} A(i):=\mathrm{A}(\ell) \cdot A(\ell+1) \ldots \mathrm{A}(\mathrm{m}-1) \cdot \mathrm{A}(\mathrm{m}), \quad m \geq \ell$
- $\prod_{i=\ell}^{m} A(i):=\mathrm{A}(\mathrm{m}) \cdot \mathrm{A}(\mathrm{m}-1) \ldots \mathrm{A}(\ell+1) \cdot A(\ell), \quad m \geq \ell$

Definition 1 If $k, k+m \in \mathbb{Z}$, then for $\mathrm{k} \in \mathrm{Z}$, we define the forward shift operator $\boldsymbol{F}^{m}, \quad m>0$ by

$$
\boldsymbol{F}^{m}(x(\mathrm{k}))=x(\mathrm{k}+\mathrm{m})
$$

Definition 2 If $k, k+m \in \mathbb{Z}$, then for $k \in Z$, , we define the forward difference operators $\Delta^{m}, \quad m>$ 0 by

$$
\begin{gathered}
\Delta(x(\mathrm{k})))=(\boldsymbol{F}-\boldsymbol{I}) x(\mathrm{k})=x(\mathrm{k}+1)-x(\mathrm{k}) \\
\Delta^{2}(x(\mathrm{k}))=\Delta(\boldsymbol{\Delta} \quad x(\mathrm{k})), \ldots \quad \Delta^{m}(x(\mathrm{k}))=\Delta\left(\Delta^{m-1} x(\mathrm{k})\right)
\end{gathered}
$$

In this paper, we will construct a Maple procedure for computing the exact solution of nonhomogeneous linear discrete systems for forward shift operators and forward difference operators.

## 2. STATE OF DISCRETE SYSTEM

Let us consider the following forward linear system:

$$
\begin{aligned}
& \left.\boldsymbol{F} x_{1}(k)\right)=a_{11}(k) x_{1}(k)+a_{12}(k) x_{2}(k)+\cdots+a_{1 n}(k) x_{n}(k)+u_{1}(k), \\
& \boldsymbol{F}\left(x_{2}(k)\right)=a_{21}(k) x_{1}(k)+a_{22}(k) x_{2}(k)+\cdots+a_{2 n}(k) x_{n}(k)+u_{2}(k) \text {, } \\
& \quad \vdots \\
& \boldsymbol{F}\left(x_{n}(k)\right)=a_{n 1}(k) x_{1}(k)+a_{n 2}(k) x_{2}(k)+\cdots+a_{n n}(k) x_{n}(k)+u_{n}(k), \\
& \text { with given initial conditions } x_{1}\left(k_{0}\right), \ldots, x_{n}\left(k_{0}\right)
\end{aligned}
$$

In compact form:
(F-S) $\left\{\begin{array}{l}F(x(k))=A(k) x(k)+B(k) u(k), \\ \text { with given initial conditions } \\ x\left(k_{0}\right)=x_{0}, \quad \mathrm{k}_{0} \in N_{m},\end{array}\right.$
where $x(k)=\left[x_{1}(k), \ldots, x_{n}(k)\right]^{T}, u(k)=\left[u_{1}(k), \ldots, u_{n}(k)\right]^{T}$ and $A(\mathrm{k})=\left[a_{i j}(k)\right]$ is $n \times n$ matrix with the following assumptions:
i. $u(k), A(k)$ are defined for all $k \in N_{m} \quad$ ii. $A(k)$ is invertible for all $k \in N_{m}$

Theorem 1 For each $k_{0} \in N_{m}$ and $x\left(k_{0}\right) \in \mathfrak{R}^{n}$, there exists a unique $x(\mathrm{k}) \in \mathfrak{R}^{n}$ solution of the system ( $\mathbf{F - S}$ ) under the assumptions ( $i-i i$ ), this solution is given by

$$
\left(\text { Solu - F - S) } x(k)=\left\{\begin{array}{l}
\Phi\left(A, k_{0}, k-1\right) \cdot x\left(k_{0}\right)+\sum_{\tau=k_{0}}^{k-1} \Phi(A, \tau+1, k-1) \cdot u(\tau) \\
\underline{\Phi}\left(A^{-1}, k, k_{0}-1\right) \cdot x\left(k_{0}\right)-\sum_{\tau=k}^{k_{0}-1} \underline{\Phi}\left(A^{-1}, \tau, k\right) \cdot u(\tau) \\
\text { if } 0 \leq k<k_{0}<k \leq \mathrm{m}
\end{array}\right.\right.
$$

where $\bar{\Phi}(A, \ell, m)=\prod_{i=\ell}^{m} \mathrm{~A}(\mathrm{i}), \quad m \geq \ell \quad \underline{\Phi}(A, \ell, m)=\prod_{\underline{i}=\ell}^{m} \mathrm{~A}(\mathrm{i}), \quad m \geq \ell$
Proof. One may obtain the solution of (F-S) by a simple iteration:

1. If $k>k_{0}$, then

$$
\begin{aligned}
x\left(k_{0}+1\right)= & A\left(k_{0}\right) \cdot x\left(k_{0}\right)+u\left(k_{0}\right) \\
x\left(k_{0}+2\right)= & A\left(k_{0}+1\right) \cdot x\left(k_{0}+1\right)+u\left(k_{0}+1\right) \\
= & A\left(k_{0}+1\right) \cdot A\left(k_{0}\right) \cdot x\left(k_{0}\right) \\
& +A\left(k_{0}+1\right) \cdot u\left(k_{0}\right)+u\left(k_{0}+1\right)
\end{aligned}
$$

and

$$
\begin{aligned}
x\left(k_{0}+3\right)= & A\left(k_{0}+2\right) \cdot x\left(k_{0}+2\right)+u\left(k_{0}+2\right) \\
& =A\left(k_{0}+2\right) \cdot A\left(k_{0}+1\right) \cdot A\left(k_{0}\right) \cdot x\left(k_{0}\right)+A\left(k_{0}+2\right) \cdot A\left(k_{0}+1\right) \cdot u\left(k_{0}\right) \\
& +A\left(k_{0}+2\right) \cdot u\left(k_{0}+1\right)+u\left(k_{0}+2\right)
\end{aligned}
$$

Inductively, it is easy to see that

$$
x(k)=\left[\prod_{i=k_{0}}^{k-1} \mathrm{~A}(\mathrm{i})\right] x\left(k_{0}\right)+\sum_{\tau=k_{0}}^{k-1}\left[\prod_{i=\tau+1}^{k-1} \mathrm{~A}(\mathrm{i})\right] u(\tau)
$$

2. If $k<k_{0}$, then

$$
\begin{aligned}
x\left(k_{0}\right)= & A\left(k_{0}-1\right) \cdot x\left(k_{0}-1\right)+u\left(k_{0}-1\right) \\
\Rightarrow x\left(k_{0}-1\right)= & A^{-1}\left(k_{0}-1\right) \cdot x\left(k_{0}\right) \\
& -A^{-1}\left(k_{0}-1\right) \cdot u\left(k_{0}-1\right)
\end{aligned}
$$

$$
\begin{aligned}
& x\left(k_{0}-2\right)=A^{-1}\left(k_{0}-2\right) \cdot A^{-1}\left(k_{0}-1\right) \cdot x\left(k_{0}\right) \\
& \quad-A^{-1}\left(k_{0}-2\right) \cdot A^{-1}\left(k_{0}-1\right) \cdot u\left(k_{0}-1\right) \\
&-A^{-1}\left(k_{0}-2\right) \cdot u\left(k_{0}-2\right)
\end{aligned}
$$

Inductively, it is easy to see that

$$
x(k)=\left[\prod_{i=k}^{k_{0}-1} \mathrm{~A}(\mathrm{i})\right]^{-1} x\left(k_{0}\right)-\sum_{\tau=k}^{k_{0}-1}\left[\prod_{i=k}^{\tau} \mathrm{A}(\mathrm{i})\right]^{-1} u(\tau)
$$

Hence

$$
x(k)=\left\{\begin{array}{cl}
\bar{\Phi}\left(A, k_{0}, k-1\right) \cdot x\left(k_{0}\right)+\sum_{\tau=k_{0}}^{k-1} \bar{\Phi}(A, \tau+1, k-1) \cdot u(\tau) & \text { if } k_{0}<k \leq m \\
\bar{\Phi}^{-1}\left(A, k, k_{0}-1\right) \cdot x\left(k_{0}\right)-\sum_{\tau=k}^{k_{0}-1} \bar{\Phi}^{-1}(A, \tau, k) \cdot u(\tau) & \text { if } 0 \leq k<k_{0}
\end{array}\right.
$$

This complete the proof.
Remark 1. There are some special cases of (F-S), which are important in many applications:

1. If $A(k)=A($ constant $)$, then
2. If $k_{0}=0$, then

$$
x(k)=\left[\prod_{\overline{i=0}}^{k-1} \mathrm{~A}(\mathrm{i})\right] x(0)+\sum_{\tau=0}^{k-1}\left[\prod_{i=\tau+1}^{k-1} \mathrm{~A}(\mathrm{i})\right] u(\tau), \quad 0<k \leq m
$$

3. If $k_{0}=0, A(k)=A$, then

$$
x(k)=\mathrm{A}^{k} x(0)+\sum_{\tau=0}^{k-1} \mathrm{~A}^{k-\tau-1} u(\tau), 0<k \leq m
$$

4. If $k_{0}=0, A(k)=A, u(k)=0$ then

$$
x(k)=A^{k} y(0), 0<k \leq m
$$

5. If $k_{0}=m$, then

$$
x(k)=\left[\prod_{i=k}^{k_{\mathrm{f}}-1} \mathrm{~A}(\mathrm{i})\right]^{-1} x\left(k_{0}\right)-\sum_{\tau=k}^{k_{\mathrm{f}}-1}\left[\prod_{i=k}^{\tau} \mathrm{A}(\mathrm{i})\right]^{-1} u(\tau), \quad 0<k \leq m
$$

6. If $k_{0}=m, A(k)=A$, then

$$
x(k)=\left(\mathrm{A}^{-1}\right)^{m-k} x(m)+\sum_{\tau=0}^{k-1}\left(\mathrm{~A}^{-1}\right)^{\tau-k-1} u(\tau), 0<k \leq \mathrm{m}
$$

7. If $k_{0}=m, A(k)=A, u(k)=0$ then

$$
x(k)=\left(\mathrm{A}^{-1}\right)^{m-k} x(\mathrm{~m}), 0<k \leq \mathrm{m}
$$

Remark 2. The natural response (homogeneous solution) depends on the initial condition $x\left(k_{0}\right)$ is given by

$$
x_{h}(k)=\left\{\begin{array}{l}
\bar{\Phi}\left(A, k_{0}, k-1\right) x\left(k_{0}\right) \quad \text { if } \quad k_{-} 0<k \leq m \\
\underline{\Phi}\left(A^{-1}, k, k_{0}-1\right) x\left(k_{0}\right) \quad \text { if } 0 \leq k<k_{0}
\end{array}\right.
$$

The forced response (particular solution) on the input signal $u(k)$ is given by

$$
x_{p}(k)= \begin{cases}\sum_{\tau=k_{0}}^{k-1} \bar{\Phi}(A, \tau+1, k-1) u(\tau) & \text { if } \quad k_{-} 0<k \leq m \\ -\sum_{\tau=k}^{k_{0}-1} \underline{\Phi}\left(A^{-1}, \tau, k\right) u(\tau) \quad \text { if } 0 \leq k<k_{0}\end{cases}
$$

And $\quad x(k)=x_{h}(k)+x_{p}(k)$
Remark 3. For each $x\left(k_{0}\right) \in \mathfrak{R}^{n}$, and $k_{0} \in N_{m}$, there exists a unique $x(\mathrm{k}) \in \mathfrak{R}^{n}$ solution of
$(\Delta$-S $)\left\{\begin{array}{l}\Delta(x(k))=A(k) x(k)+u(k), \\ \text { with given initial conditions given by } \\ x\left(k_{0}\right), \quad \mathrm{k}_{0} \in N_{m}\end{array}\right.$
$($ Solu $-\Delta-\mathbf{S}) x(k)=\left\{\begin{array}{l}\bar{\Phi}\left(A+I, k_{0}, k-1\right) \cdot x\left(k_{0}\right)+\sum_{\tau=k_{0}}^{k-1} \bar{\Phi}(A+I, \tau+1, k-1) \cdot u(\tau) \quad \text { if } \quad k_{-} 0<k \leq m \\ \underline{\Phi}\left((A+I)^{-1}, k, k_{0}-1\right) \cdot x\left(k_{0}\right)-\sum_{\tau=k}^{k_{0}-1} \underline{\Phi}\left((A+I)^{-1}, \tau, k\right) \cdot u(\tau) \quad \text { if } 0 \leq k<k_{0}\end{array}\right.$

## 3. HIGHER ORDER EQUATION AND METHODS

Here, we are interested in finding solutions for initial value problem of higher order forward equation, we transform scalar equations of order $s$ into a $s$-dimensional system of first-order equations. Consider the equation

$$
(\mathrm{F}-\mathrm{HE})\left\{\begin{array}{lr}
\sum_{i=0}^{s} a_{i}(k) F^{i} x(k)=\mathrm{u}(\mathrm{k}), \quad a_{s}(\mathrm{k})=1, \quad k \in N_{\mathrm{k}_{\mathrm{f}}}, & n>m>0 \\
x\left(k_{0}\right), F x\left(k_{0}\right), F^{2} x\left(k_{0}\right), \ldots, F^{s-1} x\left(k_{0}\right) \text { are given, } & k_{0} \in N_{m}
\end{array}\right.
$$

This relation may be written as a system of dimension $m$.
Let

$$
\begin{array}{ll}
z_{0}(k) & =x(k) \\
z_{1}(k) & =F x(k)=F z_{0}(k) \\
z_{2}(k) & =F^{2} x(k)=F z_{1}(k) \\
\vdots & \\
z_{\mathrm{s}-1}(k) & =F^{s-1} x(k)=F z_{\mathrm{s}-2}(k)
\end{array}
$$

Hence

$$
\begin{array}{cc}
F z_{0}(k)=z_{1}(k), & z_{0}\left(k_{0}\right) \text { is given } \\
F z_{1}(k)=z_{2}(k), & z_{1}\left(k_{0}\right) \text { is given } \\
\vdots & \vdots \\
F z_{\mathrm{s}-2}(k)=z_{\mathrm{s}-1}(k), & z_{\mathrm{s}-2}\left(k_{0}\right) \text { is given } \\
F z_{\mathrm{s}-1}(k)=-a_{s-1}(k) z_{\mathrm{s}-1}(k) \ldots-a_{1}(k) z_{1}(k) & \\
& z_{\mathrm{s}-1}\left(k_{0}\right) \text { is given }
\end{array}
$$

Let $\mathbf{z}(\mathrm{k})=\left(z_{0}(k), z_{1}(k), \ldots, z_{s-1}(\mathrm{k})\right)$, in vector notation, we transcribe this system as
$F \mathbf{z}(\mathrm{k})=\mathrm{A}(\mathrm{k}) \mathbf{z}(\mathrm{k})+\mathbf{u}(\mathrm{k}), \quad \mathbf{z}\left(\mathrm{k}_{0}\right)$ is given
where

$$
\begin{align*}
\mathrm{A}(\mathrm{k}) & =\left(\begin{array}{lllll}
0 & 1 & 0 & \ldots & 0 \\
0 & 0 & 1 & \ldots & 0 \\
0 & 0 & 0 & \ldots & 0 \\
\vdots & \vdots & \vdots & \vdots & \vdots \\
0 & 0 & 0 & 0 & 1 \\
-a_{0}(k) & -a_{1}(k) & -a_{2}(k) & \ldots & -a_{s-1}(k)
\end{array}\right) \text { and }  \tag{4.1}\\
\mathbf{u} & =\left(\begin{array}{l}
0 \\
0 \\
0 \\
\vdots \\
0 \\
u(k)
\end{array}\right),
\end{align*}
$$

## 4. THE MAPLE PACKAGE

Based on the previous sections, we can transform theorem 1 to algorithm for computing exact solution:

```
> Phil:=proc(A::Matrix,n,m)
> local i,phi,psi;with(LinearAlgebra):
> for i from n by 1 to m do phi[n-1]:=1;phi[i]:=subs(k=i,A).phi[i-1]; end
do;
> end proc:
%......................................... . . . . . . . . . . . . . . . 
> Phi2:=proc(A::Matrix,n,m)
> local I,phi,psi;
> with(LinearAlgebra):
```

```
> for i from n by 1 to m do phi[n-1]:=1;phi[i]:=phi[i-
1].subs(k=i,MatrixInverse(A)); end do;
> end proc:
```



```
Solu2:=proc(A: :Matrix,k0,m,x0,u)
> local i,z,x,j,A1,n,ul,v,S,S1;
> with(LinearAlgebra):ul:=convert(u,list);n:=nops(ul);
S:={seq(i,i=0..m)};
> for i from 1 by 1 to n do
> for j from 1 by 1 to n do for i from 0 by 1 to k0-1 do z[i]:=Phi2(A,i,
k0-1).x0- seq(Phi2(A, i,j).subs (k=j,u),j=i..k0-1);
> end do ;
> for i from k0 to k0 do z[i]:=x0; end do;
> for i from k0+1 by 1 to m do z[i]:=Phil(A, k0, i-1).x0+ seq(Phil(A, j+1,i-
1). subs(k=j,u),j=k0..i-1);
> end do;
> print(seq(x(i)=z[i],i=0..m));
> A1:=convert([seq(convert(z[i],list),i=0..m)],Matrix);
> A1:=Transpose(A1);v:=convert([seq(i,i=0..m)],Vector);
>for i from 1 to n do
>print(plot(v,convert(Al[i],Vector),style=patch,symbol=asterisk, symbolsize=10
0, color=blue));
> print(x[i] )
> end do
> end do
> end do;
> end proc:
```


## 5. EXAMPLES

To illustrate our procedure, we give some examples, which appear in engineering applications.
Example 1: Solve the following discrete system $\left(n=1, \quad k_{0}=2, \quad F\right.$ operator $)$ :

$$
\begin{gathered}
F(x(k))=\frac{k+2}{k+1} x(k)+k, \quad k \in N_{10}, \\
x(2)=4 \\
A:=\operatorname{Matrix}\left(\left[\left[\frac{k+2}{k+1}\right]\right]\right) ; u:=\operatorname{Matrix}([[\mathrm{k}]]) ; \mathrm{x} 0 \\
:=\operatorname{Matrix}([[4]]) ; \text { Solu2 }(\mathrm{A}, 2,10, \mathrm{x} 0, \mathrm{u}) ; \\
A:=\left[\frac{k+2}{k+1}\right] u:=[k] x 0:=[4] \\
x(0)=[1], x(1)=[2], x(2)=[4], x(3)=\left[\frac{22}{3}\right], x(4)=\left[\frac{73}{6}\right], \\
x(5)=\left[\frac{93}{5}\right], x(6)=\left[\frac{267}{10}\right], x(7)=\left[\frac{1278}{35}\right], x(8) \\
=\left[\frac{6731}{140}\right], x(9)=\left[\frac{7739}{126}\right], x(10)=\left[\frac{96469}{1260}\right]
\end{gathered}
$$



Figure 1. Solution of Example 1: $x(t)$
Example 2: Solve the following discrete system $\left(n=1, \quad k_{0}=0, \quad \Delta\right.$ operator $)$ :

$$
\begin{gathered}
\Delta(x(k))=\frac{k+2}{k+1} x(k)+k, \quad k \in N_{10} \\
A(0)=1 \\
:=\operatorname{Matrix}\left(\left[\left[\frac{k+2}{k+1}-1\right]\right]\right) ; u:=\operatorname{Matrix}([[\mathrm{k}]]) ; \mathrm{x} 0 \\
A:=\left[\frac{k+2}{k+1}-1\right] u:=[k] x 0:=[1] \\
x(0)=[1], x(1)=[1], x(2)=\left[\frac{3}{2}\right], x(3)=\left[\frac{5}{2}\right], x(4) \\
=\left[\frac{29}{8}\right], x(5)=\left[\frac{189}{40}\right], x(6)=\left[\frac{463}{80}\right], x(7)=\left[\frac{3823}{560}\right], \\
x(8)=\left[\frac{35183}{4480}\right], x(9)=\left[\frac{357743}{40320}\right], x(10)=\left[\frac{3986543}{403200}\right] \\
x([1]]) ; \text { Solu2 }(\mathrm{A}, 0,10, \mathrm{x} 0, \mathrm{u}) ;
\end{gathered}
$$

Figure 1. Solution of Example 2: $x(t)$
Example 3: Solve the following discrete system $\left(n=3, \quad k_{0}=0, \quad F\right.$ operator $)$ :

$$
\begin{aligned}
& A:=\left[\begin{array}{ccc}
0.3-0.9 \sin (10 k) & 0.1 & 0.7 \cos (10 k) \\
0.6 \sin (10 k) & 0.3-0.8 \cos (10 k) & 0.01 \\
0.5 & 0.15 & 0.6-0.9 \sin (10 k)
\end{array}\right] \\
& u:=\left[\begin{array}{c}
0.5 \sin (12 k) \\
0.5 \sin (12 k)-\cos (7 k) \\
\cos (7 k)
\end{array}\right] x 0:=\left[\begin{array}{l}
0 \\
0 \\
0
\end{array}\right]
\end{aligned}
$$





$$
x_{3}(t)
$$

Figure 3. Solutions of Example 3: $x_{1}(t), x_{2}(t)$ and $x_{3}(t)$
Example 4: Solve the following discrete system $\left(n=1, \quad k_{0}=0, \quad F^{3}\right.$ operator $)$ :

$$
\begin{gathered}
x(k+3)+x(k+2)-k x(k+1)-x(k)+k=0, \quad k \in N_{7}, \\
x(0)=1, \quad x(1)=2, \quad x(2)=-1 \\
A:=\operatorname{Matrix}([[0,1,0],[0,0,1],[1, \mathrm{k},-1]]) ; \mathrm{u}:=\operatorname{Matrix}([[0],[0],[ \\
-k]]) ; \mathrm{x} 0:=\text { Matrix }([[1],[2],[-1]]) ; \text { Solu2 }(\mathrm{A}, 0,7, \mathrm{x} 0, \mathrm{u}) ; \\
A:=\left[\begin{array}{lll}
0 & 1 & 0 \\
0 & 0 & 1 \\
1 & k & -1
\end{array}\right] u:=\left[\begin{array}{r}
0 \\
0 \\
-k
\end{array}\right] x 0:=\left[\begin{array}{r}
1 \\
2 \\
-1
\end{array}\right] \\
x(0)=\left[\begin{array}{r}
1 \\
2 \\
-1
\end{array}\right], x(1)=\left[\begin{array}{r}
2 \\
-1 \\
2
\end{array}\right], x(2)=\left[\begin{array}{r}
-1 \\
2 \\
-2
\end{array}\right], x(3)=\left[\begin{array}{r}
2 \\
-2 \\
3
\end{array}\right], x(4) \\
=\left[\begin{array}{r}
-2 \\
3 \\
-10
\end{array}\right], x(5)=\left[\begin{array}{r}
3 \\
-10 \\
16
\end{array}\right], x(6)=\left[\begin{array}{r}
10 \\
16 \\
-68
\end{array}\right], x(7)=\left[\begin{array}{r}
16 \\
-68 \\
148
\end{array}\right]
\end{gathered}
$$

So $x(0)=1, x(1)=2, x(2)=-1, x(3)=2, x(4)=-2, x(5)=3, x(6)=-10, x(7)=16$.


Figure 4. Solution of Example 4: $x(t)$
Example 5: Solve the following discrete system $\left(n=2, \quad k_{0}=0, \quad F\right.$ operator $)$ :

$$
\begin{gathered}
x_{1}(k+1)=x_{1}(k)+k x_{2}(k)-1, \quad k \in N_{5}, \\
x_{2}(k+1)=x_{2}(k)-x_{1}(k)+k \\
x_{1}(0)=1, \quad x_{2}(0)=-1
\end{gathered}
$$

$$
\begin{aligned}
A:= & \operatorname{Matrix}([[1, k],[-1,1]]) ; \mathrm{u}:=\operatorname{Matrix}([[-1],[\mathrm{k}]]) ; \mathrm{x} 0 \\
& :=\operatorname{Matrix}([[1],[-1]]) ; \operatorname{Soluz} 2(\mathrm{~A}, 0,5, \mathrm{x} 0, \mathrm{u}) ;
\end{aligned}
$$

$$
A:=\left[\begin{array}{cc}
1 & k \\
-1 & 1
\end{array}\right] u:=\left[\begin{array}{c}
-1 \\
k
\end{array}\right] x 0:=\left[\begin{array}{r}
1 \\
-1
\end{array}\right]
$$

$$
x(0)=\left[\begin{array}{r}
1 \\
-1
\end{array}\right], x(1)=\left[\begin{array}{r}
0 \\
-2
\end{array}\right], x(2)=\left[\begin{array}{l}
-3 \\
-1
\end{array}\right], x(3)=\left[\begin{array}{r}
-6 \\
4
\end{array}\right], x(4)
$$

$$
=\left[\begin{array}{r}
5 \\
13
\end{array}\right], x(5)=\left[\begin{array}{l}
56 \\
12
\end{array}\right]
$$


$x_{1}(t)$

$x_{2}(t)$

Figure 5. Solutions of Example 5: $x_{1}(t), x_{2}(t)$

## 6. CONCLUSION

In the paper, a Maple procedure was constructed for computing the exact solutions of nonhomogeneous forward discrete linear systems with variable coefficients. The advantage of this procedure is that the solution is obtained directly by entering the parameters only.

## 7. REFERENCES

[1] A. Michel, L. Hou, D. Liu, "Stability of dynamical systems and control: Foundations and applications", Springer International Publishing, 2015.
[2] L. Edelstein-Keshet "Mathematical Models in Biology (Classics in Applied Mathematics)", SIAM, 2005.
[3] S. Elaydi, "An introduction to difference equations" Springer Verlag, third edition, 2005.
[4] B. Qiu, X. Li, S. Yang, "A novel discrete-time neurodynamic algorithm for future constrained quadratic programming with wheeled mobile robot control", Neural Computing and Applications, vol. 35 , no 15, 2795-2809, May 2023, doi: 10.1007/s00521-022-07757-6.
[5] D. Gerontitis, R. Behera, Y. Shi, P. S. Stanimirović. "A robust noise tolerant zeroing neural network for solving time-varying linear matrix equations", Neurocomputing, vol.508, 254-274, October 2022, doi:10.1016/j.neucom.2022.08.047.
[6] D. Viegas, P. Batista, P. Oliveira, C. Silvestre, "Distributed controller design and performance optimization for discrete-time linear systems", Optimal Control Applications and Methods, vol.42, no.1, 126-143, January/February 2021, doi: 10.1002/oca.2669.
[7] L. Xiao, W. Huang, L. Jia, X. Li, "Two Discrete ZNN Models for Solving Time-Varying Augmented Complex Sylvester Equation", Neurocomputing, vol. 487, 280-288, May 2022, doi: 10.1016/j.neucom.2021.11.012.
[8] M. Mohammadi, "A New Discrete-time Neural Network for Quadratic Programming with General Linear Constraints", Neurocomputing, vol.424, 107-116, February 2021, doi: 10.1016/j.neucom.2019.11.028.
[9] S. Ding, X. Xie, Y. Liu, "Event-triggered static/dynamic feedback control for discrete-time linear systems", Information Sciences, vol.524, 33-45, July 2020, doi: 10.1016/j.ins.2020.03.044.
[10] W. Liu, P. Shi, X. Xie, D. Yue, S. Fei, "Optimal linear-quadratic-Gaussian control for discretetime linear systems with white and time-correlated measurement noises", Optimal Control Applications and Methods, vol.42, no.5, 1467-1486, September/October 2021, doi: 10.1002/oca. 2734.
[11] W. Chen, C. Zhang, K. Xie, C. Zhu, Y. He, "Delay-variation-dependent criteria on stability and stabilization for discrete-time fuzzy systems with time-varying delays", IEEE Transactions on Fuzzy Systems, vol.30, no.11, 4856 - 4866, November 2022, doi: 10.1109/TFUZZ.2022.3162104.
[12] X. Lu, Q. Zhang, X. Liang, H. Wang, Chunyang Sheng, Zhiguo Zhang, Wei Cui, "Optimal linear quadratic Gaussian control for discrete time-varying system with simultaneous input delay and state/control-dependent noises", Optimal Control Applications and Methods, vol.41, no.3, 882-897, May/June 2020, doi: 10.1002/oca. 2576
[13] Y. Zhang, Y. Ling, S. Li, M. Yang, N. Tan, "Discrete-time zeroing neural network for solving time-varying Sylvester-transpose matrix inequation via exp-aided conversion", Neurocomputing, vol. 386, 126-135, April 2020, doi: 10.1016/j.neucom.2019.12.053.
[14] Z. Dong, X. Zhang, X. Wang, "State Estimation for Discrete-Time High-Order Neural Networks with Time-Varying Delays", Neurocomputing, vol.411, 282-290, October 2020, doi: 10.1016/j.neucom.2020.06.020.
[15] Z. Zhang, X. Zhang, T. Yu, "Global exponential stability of neutral-type Cohen-Grossberg neural networks with multiple time-varying neutral and discrete delays", Neurocomputing, vol.490, 124131, June 2022, doi: 10.1016/j.neucom.2022.03.068.
[16] N. Stokey, R. Lucas, C. Edward, "Prescott Recursive Methods on Economic Dynamics", Harvard University, 1989.
[17] J. Banasiak, "Mathematical Modelling in One Dimension: An Introduction Via Difference and Differential Equations", Cambridge University, 2013.
[18] M. Shehata, A. A. Khalil, "Algorithm for computing exact solution of the first order linear differential system", Sohag Journal of Sciences, vol.7, no.3,71-77, September 2022, doi: 10.21608/SJSCI.2022.140062.1002..
[19] S. Lynchd, "Dynamical systems with applications using Maple" Springer Science + Business Media New York. 2001.

